F2-15HK

SRR

REFTMEL AR HETMAE

BHES TEFER I = 4% I = @ @ F E M (FiA ) AFLAK I = #® =
PHEESE2RZKEEFIE —=t
RS K E O%M%fﬂ;"oyj?sus%/i*_}l/,::ya\rﬁijiﬁféﬁﬁz (_ﬁkﬁﬁmgaam’ ;‘ﬁwmﬂ;mm’) 148
805 gy (T ERE SR R L 53 AT300% ¥71,071,000F — e OB AR o= oh (500 X400 XA00L ik ST x5y 1M TP 1
O REEFKB/PMEEMRKR TLZUb (32¢ x40 X 48L/min X 30m x 750w) 148
OLRITHSHRHKEA-BRRBIE 1 OBFHLEPENKIE 1=
EEFEHMEDRED TEDHEIEE Hhigi B #kEE kol
HEEE  |mwmEo| FAE |THms o o | ERBE] mip .| BRTE| SO EMTE | EBTE (£50747 | FET |rmu.ammn | prss o | EERIED [IEABILN | REBE S SRl R A E PIE R DR %
ﬁ% Ig%%ﬁ AEEFEE Iimﬁﬁ CPDHET?.F %?glﬁ I$£$§ I$I’j€*ﬁ igg ?%JEZI?%;%% EEEIEE E%%:{ﬁﬁ *;ﬁf%ifﬁ 7[;%;‘ it'|§5§'ﬁ§ i}ﬁiﬁﬁ*ﬂ: KH&:@J\' ﬁ”jﬁ H 53\ l_v:‘__«-F QEEIEE
[y~ 1 2 1 2 1 2 2 4 4 1 — 1 1 2 1 2 2 2 GRi&=) R =) — 31 10.000
[fifiA% LASY O BT i 5R )
EEFEHMEDRED TEDOHEIEE Hhigi B #kEE kol
AHLE HiiED| mE | TERE o o | ERBE] mip .| BRTE| SO ERTE | EBIH (£50747 | FET |rmpw.smnn | ross oo | EFRAED [IHABILL | EBEE S SRl A A E M R %
i |THEm| AmE |00 | OPOBE HORE | gy | TRAM| Txy | 000 |FHFRE | xwe wewne| mw | seam|t0 r|POEE T T TG 5 |BmEE
Bt LRETE 1 2 0 2 0 1 2 2 0 0 — 1 1 1 0 0 2 2 0 0 — 17
[ FiaBoTy 17000 ]
[ EFMERR
AL (BiiRE) FAEREEE(KEEE) HIEMEA (C)=| ®RETEIE % - -
ALE (A) EAR D ® ®-1 B2 Mm% = (B) 100+(B) (C/A) x100,000,000 EALE FHREREORR
K 4 E R £ A H
S & A H
S £ A B
AFLE LB (BiRE) BER (EZEFTFMm{E) XA INE A, SHMEEIS/N R EAENIE A ALEMMETRT
AT {E 100.000 ¥2:MER=(BR/&aFR)x (NEADHER)




